[ Correction de l’interrogation n°1

Exercice 1. (2 points)
1. (a+b)? =a®+ 2ab+ b? 2. a2 —b*> = (a—b)(a+b)
Exercice 2. (2 points)

1L (x+y)? — (v —y)? = 2% + 22y + % — (2 — 22y + 4?) = 4oy
2. Par conséquent 100022 — 99982 = (10000 + 2)2 — (10000 — 2)% = 4 x 10000 x 2 = 80000

Exercice 3. (6 points)

1—6x)%—(1—62)(2+5z) +4(1 —62) = (1 —62)(1 — 62 — 2 — 5z +4) = (1 — 6z)(—11z + 3)

) A
) B=(
(€) C=(
2. ) D=(4z-1)Bzx—-1)+ 4z —-1)=4e—-1)Bzx—1+1) =4z — 1)(3z) = 3z(4z — 1)
(b) E=(
) F =922 — 182+ 9 = (3z — 3)?

[ Correction de l’interrogation n°1

Exercice 1. (2 points)
1. a®? —2ab+b*> = (a — b)? 2. (a+b)(a—0b)=a®—-b?

Exercice 2. (2 points)

1L (x+y)?— (v —y)? = 2% + 20y + % — (2 — 20y + 4?) = 4oy
2. Par conséquent 100032 — 99972 = (10000 + 3)2 — (10000 — 3)% = 4 x 10000 x 3 = 120000

Exercice 3. (6 points)

1. (a) A= (z—1)(6—22)% = (—1)(25— 20z +42?) = 252 — 2022 + 423 — 25+ 20z — 42 = 423 — 2422 + 452 — 25
(b) B=(-3(x+1))?=(-32z-3)2=922 — 18z +9
(c) C = (V2x+4)? =22 +8z + 16

2. Factoriser les expressions suivantes :
() D=2z-1)Bz—-1)+22z-1)=2z-1)Bx—1+2)=(2z—-1)(3z+ 1)
(b) E=(1-62)>—(1—6x)(2+5z)+(1—6z) = (1—62)(1—6x—2—5x+1) = (1—-62)(—11z) = —112(1—62)
() F =42 + 122+ 9= (2z + 3)?



